
Byrne, Rice and Turner504 525 7137 B-83

Barge crane, DF-126	 217
Bellmouth, steel suction	 106
Bitts	 96-98,104
Capstans
	 Nabrico	 185
	 Wintech	 244-245
Cargo Securing Systems
	 Peck & Hale	 252-253
Chocks, closed/open	 98
Container lifting/lashing hardware	 251-253
Corner plates, (barge)steel	 110
Davit Crane	 218
Deck fittings
Dogs, Door	 169
Doors, [see also by dwg. at end of index] 	
	 BRT	 136-138,166
	 Cornell-Carr® doors:	 170-178
	 Freeman® doors	 114-121,131
 	 Nabrico®	 133-135
Expansion trunk	 108
Fairleads, roller	 113
Hatches, [see also by dwg. at end of index]
	 BRT	 139-149,167-168
	 Freeman®	 122-130
	 Nabrico®	 88-93,132
Hoists [see Winches]
Interlocking Device	 106
Kevels	 94-95
Manholes, 
	 [see also by dwg. at end of index]	 135-144
Ratchet strap	 105
Rings
	 D-rings	 105,253
	 Mooring rings	 99
Ocean Door	 109
Panama Canal Chock	 104
River Ratchets & end fittings	 249-251
Roller fairleads	 113
Rolling cover wheel	 108
Roller chock	 100-102
Running light stands	 112
Scuttles
	 [see by dwg. at end of index]	 160-165,169

Index Section B
DECK

product	 pages	 product	 pages

Signage
	 barge flag pole w/ sign	 112
	 “Emerg. engine cut-off ...”	 111
	 “Oil discharge prohibited ...”	 111
	 “Warning ...”	 110
Stuffing gland	 107
Tanks
	 deck, 7500 gal.	 102
	 fuel oil, 300 gal.	 107
Tie-downs [see Rings]
Turnbuckles, Patterson	 248
Winches
	 Anchor Winch	 182
	 Barge Winches
			  Manual Nabrico®	 190-198
			  Manual Patterson	 223-226
			  Manual Wintech		

			  232-237,241-243,246-247
Electric Winches
	 Nabrico®	 184,199-201
			  Parts	 202-205
	 Patterson	 223-226
	 Wintech	 232-237,241-243,246-247
Hand - Thern, Nabrico® & Wintech
				   179-181,183,184,186
Hydraulic
	 Nabrico®	 184,199-201
			  Parts	 207-213
Positioning
	 Nabrico®	 214-216
	 Wintech	 238-240
	 Trawl, McElroy	 254
			  Parts	 255
Windlass	 256
		



Byrne, Rice and Turner www.brtmarine.comB-84

Doors by drawing:
#100- watertight	 166
#101-watertight, 4 dog	 136
#102-watertight, 6 dogs	 137
#104-watertight, quick-acting	 138
Freeman®	 114-121
	 1100 Series Standard	 115
	 1120 Series Heavy Duty	 116
	 1130 Series Water tight	 117
	 1400 Series Quick Acting	 118
	 1500 Series Dutch Panel	 119
	 1600 Series French Panel	 120
	 1700 Series Sliding	 121
	 Orderform	 131
Hatches by drawing:
# 200-watertight, w/ drop bolts	 139
# 201-watertight, 4 dogs, rectangular	 140
# 202-watertight, quick-acting;
	 spring-balanced	 141
# 203-watertight, quick-acting	 166
# 204-watertight, quick-acting, oval	 142
# 205-watertight, quick-acting, flush	 143
# 207-watertight; spring-bal.,
	 sq. I rect., dog	 166
# 208-w/ drop bolts	 144
# 209-watertight, 4 dogs, oval	 145
# 210-oil cargo hatch	 167
# 211-watertight, flush	 131
# 212-watertight, flush, oval	 167
# 213-watertight, flush,
	 spring-balanced cover	 167
#214-watertight, spring-balanced	 147
#215-watertight, quick-acting,
	 spring-bal., oval	 167
#217-watertight, flush,
	 recessed spring balanced	 148
# 219 -watertight, quick-act.,
	 flush, recessed spring 	 149

Index Section B
DECK

Nabrico®

	 Clean out	 91
	 Flush watertight	 87
	 flush bolted screw	 92
	 twist lock	 88
	 raised watertight	 88-90
	 raised bolted hatch	 91
	 single bolt	 87
	 ullage	 93

Manhole covers by drawing:
# 300-watertight, oval	 150
# 301-single bolt, round	 151
# 302-raised; bolted, oval	 152
# 303-flush, bolted, oval	 153
# 305-single bolt w/fold handle	 154
# 306-watertight, round	 155
# 307-single bolt, oval	 156
# 308-raised, bolted, round	 157
# 309-bolted plate w/ studs-	 158
#310-flush, bolted, round	 159

Scuttles by drawing:
(all watertight)
# 400-quick-acting,
	 spring-balanced cover	 160
#401-quick-acting; flush, round	 161
# 402-quick-acting, round, 3 dogs	 162
# 403- quick-acting, w.t. flush scuttle	 163
# 404-w/ drop bolts	 164
# 405-3 dogs	 165

product	 pages	 product	 pages



Byrne, Rice and Turner504 525 7137 B-85

	 But we went even further: We made it pos-
sible for privately owned schools to be funded in 
exactly the same way as publicly owned schools, 
giving parents the ability to spend their education 
dollars wherever they chose. Again, everybody 
predicted that there would be a major exodus of 
students from the public to the private schools, 
because the private schools showed an academic 
advantage of 14 to 15 percent. It didn’t happen, 
however, because the differential between schools 
disappeared in about 18-24 months. Why? Be-
cause all of a sudden teachers realized that if they 
lost their students, they would lose their funding; 
and if they lost their funding, they would lose their 
jobs. Eighty-five percent of our students went to 
public schools at the beginning of this process. 
That fell to only about 84 percent over the first year 
or so of our reforms. But three years later, 87 per-
cent of the students were going to public schools. 
More importantly, we moved from being about 14 
or 15 percent below our international peers to be-
ing about 14 or 15 percent above our international 
peers in terms of educational attainment.

	 Now consider taxation and competitive-
ness: What many in the public sector today fail to 
recognize is that the challenge of competitiveness 
is worldwide. Capital and labor can move so freely 
and rapidly from place to place that the only way 
to stop business from leaving is to make certain 
that your business climate is better than anybody 
else’s. Along these lines, there was a very interest-
ing circumstance in Ireland just two years ago. The 
European Union, led by France, was highly critical 
of Irish tax policy—particularly on corporations—
because the Irish had reduced their tax on corpo-
rations from 48 percent to 12 percent and business 
was flooding into Ireland. The European Union 
wanted to impose a penalty on Ireland in the form 
of a 17 percent corporate tax hike to bring them 
into line with other European countries. Need-
less to say, the Irish didn’t buy that. The European 
community responded by saying that what the Irish 
were doing was unfair and uncompetitive. The Irish 
Minister of Finance agreed: He pointed out that Ire-
land was charging corporations 12 percent, while 
charging its citizens only 10 percent. So Ireland 
reduced the tax rate to 10 percent for corporations 
as well. There’s another one the French lost!

	 When we in New Zealand looked at our 
revenue gathering process, we found the system 
extremely complicated in a way that distorted busi-
ness as well as private decisions. So we asked 
ourselves some questions: Was our tax system 
concerned with collecting revenue? Was it con-
cerned with collecting revenue and also delivering 
social services? Or was it concerned with collect-
ing revenue, delivering social services and chang-
ing behavior, all three? We decided that the social 
services and behavioral components didn’t have 
any place in a rational system of taxation. So we 
resolved that we would have only two mechanisms 
for gathering revenue—a tax on income and a tax 
on consumption—and that we would simplify those 
mechanisms and lower the rates as much as we 
possibly could. We lowered the high income tax 
rate from 66 to 33 percent, and set that flat rate for 
high-income earners. In addition, we brought the 
low end down from 38 to 19 percent, which became 
the flat rate for low-income earners. We then set a 
consumption tax rate of 10 percent and eliminated 
all other taxes—capital gains taxes, property taxes, 
etc. We carefully designed this system to produce 
exactly the same revenue as we were getting 
before and presented it to the public as a zero sum 
game. But what actually happened was that we re-
ceived 20 percent more revenue than before. Why? 
We hadn’t allowed for the increase in voluntary 
compliance. If tax rates are low, taxpayers won’t 
employ high priced lawyers and accountants to find 
loopholes. Indeed, every country that I’ve looked 
at in the world that has dramatically simplified and 
lowered its tax rates has ended up with more rev-
enue, not less.

	 What about regulations? The regulatory 
power is customarily delegated to non-elected 
officials who then constrain the people’s liberties 
with little or no accountability. These regulations 
are extremely difficult to eliminate once they are in 
place. But we found a way: We simply rewrote the 
statutes on which they were based. For instance, 
we rewrote the environmental laws, transforming 
them into the Resource Management Act—reduc-
ing a law that was 25 inches thick to 348 pages. 
We rewrote the tax code, all of the farm acts, and 
the occupational safety and health acts. To do this, 

Rolling Back Government: Lessons from New Zealand
Maurice P. McTigue

(Continued from Index A page A-8



Byrne, Rice and Turner www.brtmarine.comB-86

we brought our brightest brains together and told 
them to pretend that there was no pre-existing law 
and that they should create for us the best pos-
sible environment for industry to thrive. We then 
marketed it in terms of what it would save in taxes. 
These new laws, in effect, repealed the old, which 
meant that all existing regulations died—the whole 
lot, every single one.

Thinking Differently About Government
	 What I have been discussing is really just a 
new way of thinking about government. Let me tell 
you how we solved our deer problem: Our country 
had no large indigenous animals until the English 
imported deer for hunting. These deer proceeded 
to escape into the wild and become obnoxious 
pests. We then spent 120 years trying to eliminate 
them, until one day someone suggested that we 
just let people farm them. So we told the farming 
community that they could catch and farm the deer, 
as long as they would keep them inside eight-foot 
high fences. And we haven’t spent a dollar on deer 
eradication from that day onwards. Not one. And 
New Zealand now supplies 40 percent of the world 
market in venison. By applying simple common 
sense, we turned a liability into an asset.

	 Let me share with you one last story: The 
Department of Transportation came to us one 
day and said they needed to increase the fees for 
driver’s licenses. When we asked why, they said 
that the cost of relicensing wasn’t being fully re-
covered at the current fee levels. Then we asked 
why we should be doing this sort of thing at all. The 
transportation people clearly thought that was a 
very stupid question: Everybody needs a driver’s 
license, they said. I then pointed out that I received 
mine when I was fifteen and asked them: “What 
is it about relicensing that in any way tests driver 
competency?” We gave them ten days to think this 
over. At one point they suggested to us that the 
police need driver’s licenses for identification pur-
poses. We responded that this was the purpose of 
an identity card, not a driver’s license. Finally they 
admitted that they could think of no good reason 
for what they were doing—so we abolished the 
whole process! Now a driver’s license is good until 
a person is 74 years old, after which he must get an 
annual medical test to ensure he is still competent 
to drive. So not only did we not need new fees, we 
abolished a whole department. That’s what I mean 
by thinking differently.

	 There are some great things happening 

along these lines in the United States today. You 
might not know it, but back in 1993 Congress 
passed a law called the Government Performance 
and Results Act. This law orders government 
departments to identify in a strategic plan what it 
is that they intend to achieve, and to report each 
year what they actually did achieve in terms of 
public benefits. Following on this, two years ago 
President Bush brought to the table something 
called the President’s Management Agenda, which 
sifts through the information in these reports and 
decides how to respond. These mechanisms are 
promising if they are used properly. Consider this: 
There are currently 178 federal programs designed 
to help people get back to work. They cost $8.4 
billion, and 2.4 million people are employed as a 
result of them. But if we took the most effective 
three programs out of those 178 and put the $8.4 
billion into them alone, the result would likely be 
that 14.7 million people would find jobs. The status 
quo costs America over 11 million jobs. The kind of 
new thinking I am talking about would build into the 
system a consequence for the administrator who is 
responsible for this failure of sound stewardship of 
taxpayer dollars. It is in this direction that the gov-
ernment needs to move.



Byrne, Rice and Turner504 525 7137 B-87

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

probably from Louisiana if...
You’ve ever wore shorts at Christmas time.



Byrne, Rice and Turner www.brtmarine.comB-88

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

probably from Louisiana if...
You pronounce Lafayette as “Laffy-ette” not “La-fy-ette” 



Byrne, Rice and Turner504 525 7137 B-89

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

Marie called de newspaper.
Marie called de newspaper 
and tole dem dat her husband 
Boudreaux had died.
De news paper person said, 
“Oh, aham so sorry to hear 
dat, would you like for me to 
switch you to de obituary sec-
tion”?
Marie answered, “No, jus’ con-
nect me wit de boats for sale 
department”.



Byrne, Rice and Turner www.brtmarine.comB-90

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

“Boo” Boudreaux’s Report Card
“Boo” Boudreaux come home wit’ a really bad report card las’ week, an’ his daddy was 
really upset.
When “Boo” got to school on Monday morning. he went up to hees teacher. and an-
nounced to her, “Teacher, I tink I better warn you. My Poppa said dat if I don’t start get-
ting better grades soon, somebody is gonna get a real bad spanking!”



Byrne, Rice and Turner504 525 7137 B-91

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

probably from Louisiana if...
You learned to drive a boat before you could drive a car 



Byrne, Rice and Turner www.brtmarine.comB-92

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

probably from Louisiana if...
You know the meaning of a “Delcambre Reeboks” 
(that would be a pair of all white fishing boots)



Byrne, Rice and Turner504 525 7137 B-93

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

Boo and Tee see a leettle green creature.
Pierre and Boudreaux were on a weekend hunt when 
dev witnessed a UFO landing.
As de leettle green creatures descended from de 
craft Pierre said, “Mais what’s dat?”
Boudreaux answered, as he aimed hees gun: “I don’t 
know me, Pierre. But you better go back to de camp 
and put some rice on.



Byrne, Rice and Turner www.brtmarine.comB-94

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

D
e 

po
lic

e 
Sa

rg
en

t a
xe

d 
Bo

ud
re

au
x 

w
ha

t h
ee

s 
w

ife
 

sa
y 

be
fo

re
 s

he
 d

ie
d.

Bo
ud

re
au

x’
s 

w
ife

 w
as

 k
ille

d 
in

 a
n 

ac
ci

de
nt

. W
he

n 
de

 
po

lic
e 

qu
es

tio
ne

d 
 h

im
. d

e 
Sa

rg
en

t a
xe

d.
 “D

id
 s

he
 

sa
y 

an
yt

hi
ng

 b
ef

or
e 

sh
e 

di
ed

?”
Bo

ud
re

au
x 

sa
id

. “
Sh

e 
sp

ok
e 

w
it’

ou
t i

nt
er

ru
pt

io
n 

fo
r 

bo
ut

 fo
rty

 y
ea

rs
.”



Byrne, Rice and Turner504 525 7137 B-95

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

D
e 

N
ew

 J
ob

Bo
ud

re
au

x 
w

al
ke

d 
in

 d
e 

ho
us

e 
de

 u
dd

er
 d

ay
 

an
d 

te
lls

 M
ar

ie
. “

C
he

r, 
I j

us
’ f

ou
nd

 a
 g

re
at

 jo
b!

 
G

o 
to

 w
or

k 
at

 1
0:

00
 a

nd
 g

et
 o

ff 
at

 2
:3

0 
ev

er
y 

da
y. 

ne
ve

r n
o 

ov
er

tim
e.

 o
ff 

ev
er

y 
w

ee
ke

nd
. a

nd
 

it 
pa

ys
 $

60
0.

00
 a

 w
ee

k.
”

M
ar

ie
 s

ay
s.

 “M
ai

s 
da

t s
ou

nd
s 

to
o 

go
od

 to
 b

e 
tru

e.
”

Bo
ud

re
au

x 
te

lls
 h

er
. “

O
h 

it’
s 

tru
e 

al
ra

t. 
Yo

u 
st

ar
t 

M
on

da
y.”



Byrne, Rice and Turner www.brtmarine.comB-96

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner504 525 7137 B-97

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

Rene’ wanted to bury his dead dog in de people cemetery behind de church. Rene’ 
Champagne lived for many years wit’ only hees dog for a companion. One sad day 
he found hees dog dead from old age.
He went to hees parish priest and axed eef services could be said for hees dog.
De good fader said “Oh no. we can’t have services for a dog here, but deres a new 
church down de street dat might be willing.”
“Fader do you t’ink $50,000 might be enough of a donation?”axed Mr. Champagne.
“Of course, why deedn’ you tell me your dog was a Catholic?”



Byrne, Rice and Turner www.brtmarine.comB-98

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

probably from Louisiana if...
Your burial plot is six feet over rather than six feet under.



Byrne, Rice and Turner504 525 7137 B-99

probably from Louisiana if...
You’ve ever had Community Coffee.



Byrne, Rice and Turner www.brtmarine.comB-100

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

probably from Louisiana if...
When giving directions you use words like 
“uptown”, “downtown”, “backatown”, riverside”, 
“lakeside”, “northshore”, “westbank”, “down the 
bayou” or “across the river”



Byrne, Rice and Turner504 525 7137 B-101

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner www.brtmarine.comB-102

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner504 525 7137 B-103

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner www.brtmarine.comB-104

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner504 525 7137 B-105

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y

probably from Louisiana if...
When you refer to a geographical location “way up 
North,” you are referring to places like Shreveport, Little 
Rock or Memphis, “where it gets real cold!”



Byrne, Rice and Turner www.brtmarine.comB-106

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner504 525 7137 B-107

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner www.brtmarine.comB-108

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner504 525 7137 B-109

Piece 
No.

Description Material

1 COVER MILD STEEL
2 COAMING ABS GRADE A 

STEEL
3 SS COAMING	 STAINLESS STEEL
4 PIN PAD MILD STEEL
5 LOCKING PIN PAD MILD STEEL
6 WASHER BRASS
7 HEX NUT STAINLESS STEEL
8 YOKE MILD STEEL
9 HEX NUTS MILD STEEL
10 SPINDLE STAINLESS STEEL
11 HEX NUT STAINLESS STEEL
12 WASHER BRASS

13 HANDWHEEL MILD STEEL
14 SPINDLE PAD CAP MILD STEEL
15 SPINDLE PAD MILD STEEL
16 DROP BOLT BRASS
17 WING NUT BRASS
18 DROP BOLT PAD BRASS
19 GASKET 

RETAINER
MILD STEEL

20 GASKET NEOPRENE
21 PIN PAD MILD STEEL
22 DROP BOLT PAD MILD STEEL
23 GREASE FITTING BRASS
24 GREASE FITTING BRASS
25 PAD BRACKETS MILD STEEL
26 RETAINER RING MILD STEEL
26N FLAME SCREEN STAINLESS STEEL

OCEAN DOME



Byrne, Rice and Turner www.brtmarine.comB-110

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner504 525 7137 B-111

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner www.brtmarine.comB-112

N
A

S
H

V
IL

LE
 B

R
ID

G
E

 C
O

M
PA

N
Y



Byrne, Rice and Turner504 525 7137 B-113

probably from Louisiana if...
You plan your wedding around hunting season & LSU football



Byrne, Rice and Turner www.brtmarine.comB-114

probably from Louisiana if...
You offer somebody a “coke” and then ask them what kind: Coca-Cola, Dr. Pepper Pepsi, 7Up?



Byrne, Rice and Turner504 525 7137 B-115

probably from Louisiana if...
You can name all of your 3rd cousins



Byrne, Rice and Turner www.brtmarine.comB-116

probably from Louisiana if...
Every so often, you have waterfront property.



Byrne, Rice and Turner504 525 7137 B-117

probably from Louisiana if...
You can pronounce Tchoupitoulas but can’t spell it. (also, Thibodaux, Opelousas, Pontchartrain, Ouachita, Atchafa-
laya),



Byrne, Rice and Turner www.brtmarine.comB-118

probably from Louisiana if...
You don’t worry when you see ships riding higher in the river than the top of your house.



Byrne, Rice and Turner504 525 7137 B-119

probably from Louisiana if...
You judge a po-boy by the number of napkins used. (Amen) You Got dat rite



Byrne, Rice and Turner www.brtmarine.comB-120

probably from Louisiana if...
The waitress at your local sandwich shop tells you a fried oyster po-boy dressed is healthier than a Caesar salad.



Byrne, Rice and Turner504 525 7137 B-121

probably from Louisiana if...
You know the definition of “dressed.”



Byrne, Rice and Turner www.brtmarine.comB-122

probably from Louisiana if...
You can eat Popeye’s, Haydel’s and Zapp’s for lunch and wash it down with Barq’s and several 
Abitas, without losing it all on your stoop.



Byrne, Rice and Turner504 525 7137 B-123

probably from Louisiana if...
The smell of a crawfish boil turns you on more than HBO.



Byrne, Rice and Turner www.brtmarine.comB-124

probably from Louisiana if...
You’re not afraid when someone wants to “ax you something.”



Byrne, Rice and Turner504 525 7137 B-125

probably from Louisiana if...
You don’t learn until high school that Mardi Gras is not a national holiday. 



Byrne, Rice and Turner www.brtmarine.comB-126

probably from Louisiana if...
You don’t realize until high school what a “county” is.



Byrne, Rice and Turner504 525 7137 B-127

probably from Louisiana if...
You believe that purple, green and gold look good together (and you will even eat things 
those colors).



Byrne, Rice and Turner www.brtmarine.comB-128

probably from Louisiana if...
You go to buy a new winter coat (what most people refer to as windbreakers)



Byrne, Rice and Turner504 525 7137 B-129

probably from Louisiana if...
Your last name isn’t pronounced the way it’s spelled.



Byrne, Rice and Turner www.brtmarine.comB-130

probably from Louisiana if...
You know what a nutria rat is but you still pick it to represent your baseball team. (Geaux Zephyrs)



Byrne, Rice and Turner504 525 7137 B-131



Byrne, Rice and Turner www.brtmarine.comB-132



Byrne, Rice and Turner504 525 7137 B-133



Byrne, Rice and Turner www.brtmarine.comB-134



Byrne, Rice and Turner504 525 7137 B-135



Byrne, Rice and Turner www.brtmarine.comB-136

probably from Louisiana if...
You have a ditch on at least one side of your property



Byrne, Rice and Turner504 525 7137 B-137



Byrne, Rice and Turner www.brtmarine.comB-138

probably from Louisiana if...
You have spent a summer afternoon on the Lake Pontchartrain seawall catching blue crabs.



Byrne, Rice and Turner504 525 7137 B-139



Byrne, Rice and Turner www.brtmarine.comB-140



Byrne, Rice and Turner504 525 7137 B-141



Byrne, Rice and Turner www.brtmarine.comB-142



Byrne, Rice and Turner504 525 7137 B-143



Byrne, Rice and Turner www.brtmarine.comB-144



Byrne, Rice and Turner504 525 7137 B-145



Byrne, Rice and Turner www.brtmarine.comB-146



Byrne, Rice and Turner504 525 7137 B-147



Byrne, Rice and Turner www.brtmarine.comB-148



Byrne, Rice and Turner504 525 7137 B-149



Byrne, Rice and Turner www.brtmarine.comB-150



Byrne, Rice and Turner504 525 7137 B-151



Byrne, Rice and Turner www.brtmarine.comB-152



Byrne, Rice and Turner504 525 7137 B-153



Byrne, Rice and Turner www.brtmarine.comB-154



Byrne, Rice and Turner504 525 7137 B-155



Byrne, Rice and Turner www.brtmarine.comB-156



Byrne, Rice and Turner504 525 7137 B-157



Byrne, Rice and Turner www.brtmarine.comB-158



Byrne, Rice and Turner504 525 7137 B-159



Byrne, Rice and Turner www.brtmarine.comB-160



Byrne, Rice and Turner504 525 7137 B-161



Byrne, Rice and Turner www.brtmarine.comB-162



Byrne, Rice and Turner504 525 7137 B-163



Byrne, Rice and Turner www.brtmarine.comB-164



Byrne, Rice and Turner504 525 7137 B-165



Byrne, Rice and Turner www.brtmarine.comB-166

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 100
GASTIGHT & WEATHERTIGHT DOOR W/ 2 DOGS

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 203
QUICK ACTING WATERTIGHT HATCH

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 107
WATERTIGHT DOOR - PERSONAL & EQUIP.

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 207
SPRING BAL. RECTANGULAR OR SQ. DOG HATCH



Byrne, Rice and Turner504 525 7137 B-167

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 210
OIL CARGO HATCH

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 212
WATERTIGHT FLUSH OVAL HATCH

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 215
SPRING BAL. QUICK ACTING WATERTIGHT OVAL HATCH

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 213
WATERTIGHT FLUSH HATCH W SPRING BAL. COVER



Byrne, Rice and Turner www.brtmarine.comB-168

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 218
ULLAGE HATCH

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 220
ULLAGE HATCH

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 221
WATERTIGHT RECTANGULAR HATCH

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 406
WATERTIGHT SCUTTLE - OPERATE BELOW ONLY



Byrne, Rice and Turner504 525 7137 B-169

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 407
WATERTIGHT FLUSH SCUTTLE

BYRNE, RICE & TURNER, INC.
NEW ORLEANS, LOUISIANA

DRAWING NO. 408
WATERTIGHT RAISED SCUTTLE - FLUSH COVER



Byrne, Rice and Turner www.brtmarine.comB-170

REQUEST FOR QUOTATION SHEET JOINER DOOR - SERIES 2000

	 TYPE - (Drawing. no)
	 FRAME -
	 SILL -
	 SIZE - Clear opening or plate cut
	 MATERIAL -
	 QUANTITY -
	 HANDINGS -
	 GLASS - Size, thickness, type
	 HARDWARE -
	 SPECIAL REQUIREMENTS:



Byrne, Rice and Turner504 525 7137 B-171



Byrne, Rice and Turner www.brtmarine.comB-172



Byrne, Rice and Turner504 525 7137 B-173

REQUEST FOR QUOTATION WATER TIGHT DOOR - SERIES 4000
	
	 TYPE - (Drawing. no.)
	 DESCRIPTION -
	 QUANTITY -
	 SIZE - clear opening or plate cut
	 MATERIAL -
	 HANDINGS -
	 GLASS THICKNESS 
	 HARDWARE -
	 SPECIAL REQUIREMENTS:



Byrne, Rice and Turner www.brtmarine.comB-174



Byrne, Rice and Turner504 525 7137 B-175



Byrne, Rice and Turner www.brtmarine.comB-176



Byrne, Rice and Turner504 525 7137 B-177

WATERTIGHT DOORS AND FRAMES

The CORNELL - CARR COMPANY watertight door assemblies are designed to meet the 
severest weather conditions of modern shipping and built to meet rugged standards, 
along with smooth operational qualities. Doors and frames can be flush mounted and 
secured by bolting or welding. A special stainless steel hinge pin makes adjusting 
easy and dependable. Dutch Doors are available. A special rust preventative primer 
paint is applied to all doors.

DOOR CAN BE FABRICATED TO
BUREAU OF SHIPS DRAWINGS 

805-1400050
805-1400056
805-1400057
805-1400059
805-1400062
805-1400064
805-1400065
805-1400066
805-1400069
805-1400070
805-1400071
805-1400073
805-1400074
805-1400075
805-1626433

18”, 21” & 25” Raised & Flush Scuttles

REQUEST FOR QUOTATION WATER TIGHT DOOR - SERIES 4000
	
	 TYPE - (Drawing. no.)
	 DESCRIPTION -
	 QUANTITY -
	 SIZE - w & I dim. or plate cut out
	 MATERIAL -
	 NUMBER DOGS -
	 HANDINGS -
	 FIXED LIGHT - (if req’d.)
	 GLASS THICKNESS 
	 HARDWARE -
	 PS I -
	 SPECIAL REQUIREMENTS:



Byrne, Rice and Turner www.brtmarine.comB-178



Byrne, Rice and Turner504 525 7137 B-179



Byrne, Rice and Turner www.brtmarine.comB-180



Byrne, Rice and Turner504 525 7137 B-181



Byrne, Rice and Turner www.brtmarine.comB-182

NABRICO ANCHOR WINCH



Byrne, Rice and Turner504 525 7137 B-183

MODEL	 LINE PULL SPEED	 SHOCK LOAD	 HAND BRAKE
SLOW	 FAST		  HOLDING OR DOG

5 Ton	 10,000	 8500	 8500 (3 ft. drop)	 14,000

ALL ABOVE NUMBERS ARE POUNDS

CABLE CAPACITY     (FULL DRUM)
	 DRUM WIDTH	 1/4	 5/16	 3/8	 7/16	 1/2	 WEIGHT

5 Ton	           6”				    200	 170	 116

5 TON CAPACITY WINCH

•	 All steel construction.
•	 Machine cut gears and stainless steel 

ratchets.
•	 Bronze brushed bearings.
•	 Alemite fittings for proper lubrication.
•	 Positive no-slip tension.
•	 Fast cranking with handwheel.

•	 Quick release cam action.
•	 Full load rated hand brake with stain-

less steel braking surface.
•	 Corrosion-resistant hardware.
•	 Available coatings: blasted and painted 

or galvanized.



Byrne, Rice and Turner www.brtmarine.comB-184

PARKER TOWING WINCHES



Byrne, Rice and Turner504 525 7137 B-185

•	 Vertical thru-deck or above deck mod-
els.

•	 Fabricated steel construction.
•	 Polished steel capstan head.
•	 Head size to 36” diameter.
•	 Single or variable speeds available.
•	 Line pull up to 30,000 lbs.
•	 Static or bollard pull up 300,000 lbs.
•	 Zinc and epoxy coatings for full marine 

environment protection.
•	 Planetary or worm and spur gearing.

ELECTRIC

•	 Vertical thru-deck or above deck mod-
els.

•	 Fabricated steel construction.
•	 Polished steel capstan head.
•	 Head size to 36” diameter.
•	 Single or variable speeds available.
•	 Line pull up to 30,000 lbs.
•	 Static or bollard pull up 300,000 lbs.
•	 Zinc and epoxy coatings for full marine 

environment protection.
•	 Planetary or worm and spur gearing.
•	 Model shown:
•	   16” diameter polished steel head.
•	   Rated line pull 12,500 lbs. at 30 fpm.
•	   Designed for above deck mounting.
•	 Other sizes and features available.

HYDRAULIC



Byrne, Rice and Turner www.brtmarine.comB-186

Perspective... 
FOR ALL OF YOU WHO STILL THINK YOU ARE HAVING A BAD DAY... 

In a hospital’s Intensive Care Unit, patients always died in the same bed, on Sunday morning, 
at about 11:00 a.m., regardless of their medical condition.
This puzzled the doctors and some even thought it had something to do with the supernatural. 
No one could solve the mystery as to why the deaths occurred around 11:00 a.m. on; Sunday, 
so a worldwide team of experts was assembled to investigate the cause of the incidents.
The next Sunday morning, a few minutes before 11:00 a.m., all of the doctors and nurses 
nervously waited outside the ward to see for themselves what the terrible phenomenon was all 
about. Some were holding wooden crosses, prayer books, and other holy objects to ward off 
the evil spirits.
Just when the clock struck 11:00, Pookie Johnson, the part-time Sunday sweeper, entered the 
ward and unplugged the life support system so he could use the vacuum cleaner.



Byrne, Rice and Turner504 525 7137 B-187



Byrne, Rice and Turner www.brtmarine.comB-188

CERTIFIED HAND WINCH SPECIFICATIONS

(Figures shown in parenthesis are in centimeters.) The specifications and details described by drawings or text in this literature are subject 
to change without notice. Winches portrayed in drawings, photographs and copy are not 
designed for lifting or lowering persons or equipment.



Byrne, Rice and Turner504 525 7137 B-189



Byrne, Rice and Turner www.brtmarine.comB-190



Byrne, Rice and Turner504 525 7137 B-191



Byrne, Rice and Turner www.brtmarine.comB-192



Byrne, Rice and Turner504 525 7137 B-193



Byrne, Rice and Turner www.brtmarine.comB-194



Byrne, Rice and Turner504 525 7137 B-195

Guidry saved de olives.
Guidry went to de bar and ordered martini after martini. Each time he took de olives and put dem in a jar. When 
de jar was full and all de drinks finished, Guidry started to leave.
“S’cuse me.” said a customer at de udder end of de bar. He was puzzled over what Guidry had done. “What was 
dat all bout’?”
“Nutin.” said de Guidry . “my wife jus sent me out for a jar of olives.”

69671

70807 69981

69906

70718

8

74489

70491

69612

70939



Byrne, Rice and Turner www.brtmarine.comB-196

10 TON MANUAL WINCH

PART NO.	 QUAN.	 DESCRIPTION
11746	 1	 5/8” x 1” Lg. H/H Machine Bolt
69612	 1	 Keeper Plate
69671	 1	 Locking Pawl Dog Assembly
69884	 1	 Drive Pinion
69906	 1	 Washer 
69981	 1	 Locking Gear
70009	 1	 Locking Pawl
70017	 1	 Brake Assembly
70076	 1	 Brake Shoe Assembly
70181	 1	 Latch Spring (Compression)
70262	 1	 Ratchet Gear
70408	 1	 Handle 
70491	 8	 7/8”-9NC Hex Nut
70521	 1	 1/2”-13NC x 1” Lg. H/H Machine Bolt
70548	 1	 1/2” Lockwasher
70572	 4	 #6 x 5/16 Lg. Drive Screw
70661	 2	 Pipe Separator
70688	 2	 Pipe Separator
70718	 4	 Pipe Separator Rod
70734	 1	 Ratchet Handle Extension
70742	 1	 Drive Shaft
70750	 1	 Pipe Spacer
70769	 2	 Drive Shaft Bearing
70793	 1	 Handwheel Assembly
70807	 1	 Drum Shaft
70815	 2	 Drum Shaft Bearing
70904	 1	 Drive Pinion Guard
70912	 1	 Cable Clamp
70939	 1	 Right Side Plate Assembly
70947	 1	 Left Side Plate Assembly
70963	 1	 Ratchet Handle Assembly
70998	 1	 Name Plate
74489	 1	 Ratchet Pawl Spring
75213	 1	 Drum Assembly
79901	 2	 Lifting Lug 

PARTS LIST FOR LEFT HAND WINCH 
71005	 1	 Left Side Plate Assembly
71013	 1	 Right Side Plate Assembly
70955	 1	 Right Hand Ratchet Assembly
71048	 1	 Left Hand Pinion Guard

Boudreaux is sick
Boudreaux wazn’t feeling too good 
de udder night. At about 2:OOAM 
he called Doc Thibodeaux and 
axed him, “Hey Doc, how much you 
charge for a house call?”
Ole Doc Thibodeaux sleepily an-
swered “Twenty-five dollars.”
Boudreaux den axed, “Mais, how 
much you charge for an office 
viseet” Thibodeaux tells him “Fifteen 
dollars.”
Boudreaux says, “Mais. OK, I’ll 
meet you at your office in fifteen 
minutes!”



Byrne, Rice and Turner504 525 7137 B-197

probably from Louisiana if...
If you ever had to wait for the bridge to “come down” 
so you can get home 

69892

BRG Retainer

BRG Retainer

BRG69973
69590

BRG

69671
69981

KEY

69922

6979S

69647



Byrne, Rice and Turner www.brtmarine.comB-198

40 TON MANUAL WINCH PARTS LIST

PART QTY	 DESCRIPTION
280	 16	 3/4” - IONC x 20” Lg. Hex Hd. Mach. Bolt
523	 16	 3/4”- 1 ONC Hvy. Hex Nut
647	 1	 S/8” - SAE Flat Washer
671	 1	 5/16” Flat Steel Washer
11746	 2	 5/8” - 11 NC x 1 “ Lg. Hex Hd. Mach.Bolt
69566	 1	 Side Plate Base Bar
69574	 1	 Side Plate Base Bar
69582	 4	 Pipe Separator
69604	 1	 Keeper Plate
69612	 1	 Keeper Plate
69620	 2	 Bearing Retainer
69639	 2	 Drive Shaft Bearing
69647	 1	 Ratchet Handle Stop
69655	 1	 Ratchet Release Bar
69663	 1	 Locking Dog Pin
69671	 1	 Locking Pawl Dog Assembly
69744	 1	 Top Bracket for Extension Handle
69787	 2	 Drum Bearing
6979S	 1	 Gear shaft
69809	 1	 Pipe Spacer
69817	 1	 Washer (7 1/8” O.D.x4 31/32” I.D. x 1/4” Thk.) 
69825	 1	 Drive Shaft
69833	 1	 Key (3/8” Sq.	 x 13/4” Lg.)
69841	 1	 Key (3/8” Sq.	 x 1 3/16” Lg.)
69868	 1	 Key (1 /2” Sq.	 x 1 1/4” Lg.)
69876	 1	 Key (1/2” Sq.	 x 2 3/4” Lg.)
69884	 1	 Drive Pinion
69A92	 1	 Pipe Spacer
69906	 1	 Washer (2 1/2” O.D. x 9/16” I.D. x 5/16” Thk.)
69922	 1	 Intermediate Shaft
69930	 1	 Intermediate Shaft Collar
69949	 1	 Drive Gear and Pinion Assembly
69973	 1	 Drive Gear Pinion Searing
69981	 1	 Locking Gear
70009	 1	 Locking Pawl
70017	 1	 Brake Assembly
70076	 1	 Brake Shoe Assembly
70114	 1	 Brake Shoe Pin
70122	 1	 Brake Mounting Bracket
70130	 1	 Brake Mounting Bracket Pin
70181	 1	 Latch Spring
70262	 1	 Ratchet Gear
70327	 1	 Ratchet Handle Assembly
70335	 1	 Handwheel Assembly 70408 1 Handle
70483	 5	 1/8”	 Dia. x 1” Lg. Cotter Key 

PART QTY DESCRIPTION
70491	 8	 7/8” - 9NC Hex Nut
70521	 2	 1/2’ - 13 NC x 1 “ Lg. Hex Hd. Bolt

70548	 20 	 1/2” Std. Lockwasher 
70572.	 4	 #6 x 5/16” Lg. Drive Screw 
70580 	 1 	 Nameplate
74004	 1	 Drum Assembly
74489	 1	 Ratchet Pawl Spring
79901	 2	 Lifting Lug
B4336	 4	 Pipe Separator Rod 

PARTS LIST FOR RIGHT HAND WINCH 

69507	 1	 Right Side Plate Assembly
69515	 1	 Left Side Plate Assembly
70149	 1	 Ratchet Handle Assembly
70416	 1	 Drive Pinion Guard
73202	 1	 Ext. Handle Lower Bkt. 

PARTS LIST FOR LEFT HAND WINCH 

69523	 1	 Left Side Plate Assembly
69531	 1	 Right Side Plate Assembly
70629	 1	 Ratchet Handle Assembly
70637	 1	 Drive Pinion Guard
73210	 1	 Ext. Handle Lower Bkt.

Boudreaux gets de las’ rites
Boudreaux waz lying on his dead bed, and 
waz receiving las’ rites from his parish pries’.
De good Fader tells Boudreaux, “Eet is time 
for you to denounce de devil and all his evil.”
Boudreaux says noting. Fader once again 
tells Boudreaux, “Eet is time for you to de-
nounce de devil and all his evil.”
Still Boudreaux says noting.
De pries’ axed Boudreaux, “Why are you 
refusing to denounce de devil?”
Den Boudreaux tells him. “Fader, until I know 
where I’m going, I don’t want to take no 
chances to aggravate anybody!”



Byrne, Rice and Turner504 525 7137 B-199

70548	 20 	 1/2” Std. Lockwasher 
70572.	 4	 #6 x 5/16” Lg. Drive Screw 
70580 	 1 	 Nameplate
74004	 1	 Drum Assembly
74489	 1	 Ratchet Pawl Spring
79901	 2	 Lifting Lug
B4336	 4	 Pipe Separator Rod 

PARTS LIST FOR RIGHT HAND WINCH 

69507	 1	 Right Side Plate Assembly
69515	 1	 Left Side Plate Assembly
70149	 1	 Ratchet Handle Assembly
70416	 1	 Drive Pinion Guard
73202	 1	 Ext. Handle Lower Bkt. 

PARTS LIST FOR LEFT HAND WINCH 

69523	 1	 Left Side Plate Assembly
69531	 1	 Right Side Plate Assembly
70629	 1	 Ratchet Handle Assembly
70637	 1	 Drive Pinion Guard
73210	 1	 Ext. Handle Lower Bkt.



Byrne, Rice and Turner www.brtmarine.comB-200



Byrne, Rice and Turner504 525 7137 B-201

CERTIFIED ELECTRIC WINCH SPECIFICATIONS

(1) These capacities are based on uniform cable winding.
	 The amount of tension applied when spooling the cable will also affect the length.



Byrne, Rice and Turner www.brtmarine.comB-202

probably from Louisiana if...
If you’ve ever been to a wedding and someone either 
danced in a #3 washtub or with a broom and this was 
considered normal

RIGHT ELEVATION LEFT ELEVATION

FRONT ELEVATION REAR ELEVATION

PLAN

82864

88293

88145
88307



Byrne, Rice and Turner504 525 7137 B-203

30 TON ELECTRIC WINCH PARTS LIST

PART NO.	QTY	 DESCRIPTION
280	 12	 3/4” X 2 1/2” Lg. Hex Hd. Bolt
523	 12	 3/4” Hex Nut
11460	 14	 3/8” x 1 3/4” Lg. Hex Ht achir:e BoSt
11614	 2	 1 /2”x21 1/4”Lg. HexHd.Bolt
11746	 2	 5/8” x 1” Lg. Hex Hd. Machine Bolt
19887	 1	 Control Cabinet
21644	 1	 Control Box Support (Right Hand)
69604	 1	 Keeper Plate
69612	 1	 Keeper Plate
69841	 1	 Keystock 3/8” x 13/16
70009	 1	 Locking Pawl
70262	 1	 Locking Gear
70491	 12	 7/8” Hex Nut
70580	 1	 Name Plate
71145	 6	 Pipe Separator
71188	 1	 Top Shaft Sprocket Bushing
71196	 1	 Locking Pawl Spacer
71Z26	 2	 Drum Bearing
71234	 1	 Drum Gear Shaft
71277	 1	 Keystock 3/8” x 2 1/2’
71285	 1	 Drive Pinion
713Z3	 1	 Intermediate Shaft
71331	 1	 Intermediate Shaft Collar
71358	 1	 Drive Gear and Pinion Assembly
71882	 1	 Drum Gear Pinion Bearing
79901	 2	 Lifting Lug

PART NO.	QTY	 DESCRIPTION
82457	 1	 Drum Assembly
82481	 1	 Drum Shaft Spacer
82627	 1	 Locking Pawl Pull Pan
82635	 1	 Handcrank Assembly
83046	 1	 Eurodrive Brake, Electric 

Motor
82783	 1	 Handcrank Rack
92805	 1	 Alignment Lugs
22821	 1	 Motor Guard
82864	 1	 Control Box Supports (Left 

Hand)
e2880	 1	 Drive Shaft Guard Assembly
84697	 2	 Sealmaster Bearing SFC-25
84840	 6	 Pipe Separator Rod
8905h	 1	 Keystock 3/8” x 3 1/2”
88099	 1	 Drive Shaft Assembly
88110	 1	 Browning 1008 17 Tooth 

Sprocket
88129	 1	 Jaw Clutch Hub
88137	 1	 Browning100B20 Tooth 

Sprocket
88145	 2	 Side Plate
88153	 2	 Side Plate Base Bar
88161	 1	 Brake Gear Motor Base Plate
83189	 1	 Cable Guard Plate
88196	 42	 Pitches 100 Roller Chain
88226	 1	 Jaw Clutch Handle
88284	 1	 Jaw Clutch Yoke
88242	 1	 Chain Guard

Boudreaux’s wife has’a crab boil
Boudreaux waz waiting by his house cause his wife waz missing.
He head a knock at de door, so he answered eet. His buddy Tibodeaux waz at de door.
Tibodeaux says, “Boudreaux I got some good news and I got some bad news. De bad news is dat we foun’ 
your wife drowned in de lake. De good news is when we picked her up out de lake she had 3 dozen crabs 
holt’hing on, so bring some beer cause we’re gonna have a crab boil”.



Byrne, Rice and Turner www.brtmarine.comB-204

probably from Louisiana if...
You make your groceries” or “save your dishes” or 
have an “ice box”



Byrne, Rice and Turner504 525 7137 B-205

PART	 QTY	 DESCRIPTION
280	 14	 3/4” x 2-1/2- Lg H/H Machine Bolt (Base Bars)
329	 6	 1/2” x 1-3/4’ Lg H/H Machine Bolt (Top Platel
523	 18	 3/4” Hex Nut (Base Bars & Brake Motor)
558	 2	 1/2” Hex Nut (Jacking Bolt Locknut)
582	 6	 1/4” Hex Nut (Chain Guard 8 Control Box)
620	 4	 3/4 Flat washer (Brake - Gear Motor)
728	 4	 3/4” Lock washer (Brake - Gear Motor)
760	 2	 5/16- Lock washer (Drive Shaft Guard)
779	 6	 1/4” Lock Washer (Chain Guard 8 Control Box)
922	 2	 5/16”X3/4 Lg H/HCap Screw(Dr Sh Guard)
1023	 2	 1/4” x 1-1 /4- Lg H/H Cap Screw (Chain Guard)
9865	 3	 1/8” Grease Fitting (Drum Shaft 8 Int Shaft)
11592	 2	 1/2 x 2- Lg. H/H Machine Bolt (Ball Bearings)
11740	 2	 5/8” x 1- Lg H/H Machine Bolt (Keeper Plate)
11878	 4	 3/4” x S3/4- Lg H/H Machine Bolt (Brake-GM)
20184	 2	 1/2” x 2-1/4 Lg H/H Cap Screw (Jacking Bolt)
21644	 1	 Control Box Support (Right Hand)
69582	 4	 Pipe Separator
69604	 1	 Keeper Plate (Drum Shaft)
69612	 1	 Keeper Plate (Intermediate Shaft)
69728	 1	 Locking Pawl Spacer
69795	 1	 Drum Gear Shaft
69809	 1	 Pipe Spacer (Drum)
69817	 1	 Washer (Drum)
69868	 1	 Key (Locking Gear)
69876	 1	 Key (Drive Pinion)
69884	 1	 Drive Pinion
69922	 1	 Intermediate Shaft
09930	 1	 Intermediate Shaft Collar
69949	 1	 Drive Gear 8 Pinion Assembly
69973	 1	 Drive Gear Pinion Bearing (included in P/N 69949) 
69981	 1	 Locking Gear
70009	 1	 Locking Pawl
70475	 1	 S/Bw FI-ct’wOsher (Locking Pawl)
70483	 1	 1/8” x I<< Lg Cotter Pin (Locking Pawl)
70491	 8	 7/8” Hex Nut (Pipe Separator Rods)
70505	 2	 1/4 Grease Fitting (Jaw Clutch Hub L Spkt )
70548	 14	 1/2” Lock Washer (Brake- GI BP L Ball Brg )
70572	 4	 6 x 5/16- Lg Drive Screw (Name Plate)
70580	 I	 NABRICO Name Plate
70599	 1	 5/BZ x 5/8 Lg Set Screw (Int Shaft Collar)
73593	 I	 Control Box w/o Holes
79774	 1	 Locking Pawl Pin
79901	 2	 Lifting Lugs
82503	 1	 Drum Assembly
H2SI	 1	 Drum Bearing (included in P/N 82503)
82600	 1	 Side Plate Base Bar

De little t’ings
Boudreaux and Marie waz having some 
trouble, so dey did de right thing and went to 
a marriage counselor. After a few visits, and 
a lot of questioning and listening. de coun-
selor said that he had discovered de main 
problem.
He stood up, went over to Marie, axed her 
to stand, and gave her a hug. He looked at 
Boudreaux and said, “This is w’at your wife 
needs, at least once a day!” - Boudreaux 
frowned, thought for a moment. den said. 
“OK, w’at time do you want me to bring her 
back tomorrow?”

40 TON ELECTRIC WINCH PARTS LIST



Byrne, Rice and Turner www.brtmarine.comB-206

CERTIFIED HYDRA-ELECTRIC WINCH SPECIFICATIONS

(Figures shown in parenthesis are in centimeters.)
The specifications and details described by drawings or text in this literature are subject to change without notice.

Winches portrayed in drawings, photographs and copy are not designed for lifting or lowering persons or equipment.

(1) Holding & line pull ratings are for first layer of cable.
(2) Hydra-Electric line pull pressures are pre-set for RATED conditions.
(3) Also available in wider drum widths upon request.

Proven holding capacity certified by 
independent testing laboratory.

Free wheeling drum feature is stan-
dard on all 20, 40, and 60 ton winches 
to allow faster cable pullout.

probably from Louisiana if...
You like your rice and politics dirty.



Byrne, Rice and Turner504 525 7137 B-207

probably from Louisiana if...
You like your rice and politics dirty.

probably from Louisiana if...
You know when it’s appropriate to use “Tony Chach-
ere’s” (anytime!!!!)



Byrne, Rice and Turner www.brtmarine.comB-208

PART	 QTY.	  DESCRIPTION 
582	 7	 1/4” Hex Nut 
752	 16	 3/8” Lockwasher
779	 3 	 1/4”Lockwasher
1090	 3	 1/4” x 3/4” Lg. R/H Capscrew
5827	 9	 Lin. Ft. TSGA-3 Marine Cable
5886	 41/2 	 Lin. Ft. TTIB-10-N Marine Cable
9865	 2	 1/8” PTF Alemite Fitting #1610BL
11495	 1	 3/8” x 2i” Lg. H/H Machine Bolt
11746	 1	 5/8” x 1” Lg. H/H Machine Bolt
11932	 4	 7/8” x 2” Lg. H/H Machine Bolt
14591	 8	 1/2” x 1 1/2” Lg. H/H Machine Bolt
69612	 1	 Keeper Plate
69620	 2	 Bearing Retainer
69728	 1	 Locking Pawl Spacer
69884	 1	 Drive Pinion
69906	 2 	 Washer
69981	 1	 Locking Gear
70009	 1	 Locking Pawl
70475	 1	 5/8” Flatwasher
70483	 1	 1/8” x 1” Lg. Cotter Pin
70491	 12	 7/8” Hex Nut
70505	 2	 1/4” Alemite Fitting #1652B
70513	 2	 1/8” PTF Alemite Fitting
70521	 2	 1/2” x 1” Lg. H/H Machine Bolt
70548	 10	 1/2” Lockwasher
70572	 4	 # 6 x 5/16” Lg. Drive Screw
70580	 1	 Name Plate
70661	 2	 Pipe Separator
70688	 2	 Pipe Separator
70696	 2	 Pipe Separator Rod
70769	 2	 Drive Shaft Bearings
70807	 1	 Drum Shaft
70815	 2	 Drum Shaft Bearings
72664	 1	 Brake Post Assembly
72699	 1	 Retainer Ring
72702	 1	 4-Way Valve Mounting Plate
72745	 1	 Drive Shaft Guard Ass’y.
72753	 3	 Stand Off Bracket
72818	 1	 Controller Mounting Plate
74322	 1	 Gear Guard Assembly
73105	 1	 Winch Brake Spring
73377	 1	 Hyd. Winch Brake Cylinder
73393	 1	 Hyd. Winch Brake Assembly
73598	 1	 C-H Transformer Box
73776	 1	 4-Way Valve
73970	 6	 3/8” x 1 1/4” H/H Capscrew
74012	 1 	 Washer
74179	 2	 1/2” Liquid Tight Fitting

PART QUAN. DESCRIPTION
74187	 2	 3/4” Liquid Tight Fitting
74241	 1	 Base Bar
74268	 1	 Base Bar

PART 	 QTY. 	 DESCRIPTION 
74276	 1	 Hyd. Motor Base Plate
74284	 1	 Electric Motor Base Plate
74292	 2	 Upper Cap Bar
74306	 2	 Lower Cap Bar
74314	 2	 Side Plate
74330	 1	 Drive Shaft
74462	 1	 Lincoln Electric Motor 3 HP
74470	 1	 Power Pack Assembly
75213	 1	 Drum Assembly
75361	 1	 Complete Push Button Ass’y.
75442	 1	 Drive Gear
78794	 1	 Hyd. Motor Bracket
78808	 1	 Hydraulic Motor
79006	 1	 Modular Aluminum Subplate
79776	 1	 Locking Pawl Pin
82058	 1	 Hose Assembly 1 OLP
82112	 1	 Hose Assembly 1ORLT
82163	 1	 Hose Assembly 1 OLA
82228	 1	 Hose Assembly 1 OLB
82260	 1	 Hose Assembly 1 ORLBL
82309	 1	 Fitting Kit
85057	 1	 Motor Pinion & Brake Drum Ass’y.
85111	 1	 1 “ Hose Clamp
85138	 2	 Base Bar Support Bracket 

PARTS FOR RIGHT HANDWINCH
72826	 1	 Gear Guard Assembly
89066	 1	 Hose Assembly 1 OPP
8211Z	 1	 Hose Assembly 1ORLT
82171	 1	 Hose Assembly 1 OR.A
82236	 1	 Hose Assembly 1 ORB
82260	 1	 Hose Assembly 1 ORLBL
82309	 1	 Fitting Kit 

PARTS NOT SHOWN
22022	 1	 Starter (In Control Box)
69349	 1	 Key w/#75442
69833	 1	 Key w/#70793
69868	 1	 Key w/#69981
69876	 1	 Key w/#69884
70564	 1	 Retainer Ring w/#73393
70793	 1	 Handwheel Assembly
70912	 1	 Cable Clamp
73008	 1	 Upper Band w/#73393
73016	 1	 Lower Bank w/#73393
73040	 1	 Brake Lining w/#73393
73059	 12	 Brass Rivet w/#73393
74349	 1	 Key w/#75442
75353	 3	 C-H Heater (In Control Box)

10 TON HYDRA - ELECTRIC WINCH PARTS LIST



Byrne, Rice and Turner504 525 7137 B-209

Boudreaux meets a man on his Hawaiian vacation.
Boudreaux goes to Hawaii on vacation.
Down at de pool, a man sits down next to Boudreaux. Boudreaux says. “Hey, how you doing? My name is Bou-
dreaux and I’m here on vacation. My house caught eetself on fire. I got a leettle extra from de insurance company. 
Dat’s how I came here on dis vacation.” “Well that’s interesting,” responded the man “I’m here from California. My 
house flooded. I used the extra insurance money for this vacation.”
“Mais dats good,” said Boudreaux “but let me axe you one ting. How de heck did you start de flood?”



Byrne, Rice and Turner www.brtmarine.comB-210

PART	 QTY	DESCRIPTION 
582	 7	 1/4” Hex Nut
752	 17	 3/8” Std. Lockwasher
779	 14	 1/4” Std. Lockwasher
1066	 4	 1/4” 0 x 3/4” Lg. Hex Head Cap Screw
1090	 3	 1/4” 0 x 3/4” Lg. Round Head Machine 

Screw
5827	 1	 9 Lin. Ft. TSGA-3 Marine Cable
5886	 1	 6 Lin. Ft. TTIB-10-N Marine Cable
11452	 6	 3/8” 0 x 1 1/4” Lg. Hex Head Machine 

Bolt
11460	 8	 3/8” a x 13/4” Lg. Hex Head Machine 

Bolt
11495	 1	 3/8” 0 x 2 1/4” Lg. Hex Head Machine 

Bolt
11746	 2	 5/8” 0 x 1” Lg. Hex Head Machine Bolt
14583	 3	 3/8” 0 x 1 1/2” Lg. Hex Head Machine 

Bolt
14591	 8	 1 1/2” 0 x 1 1/2” Lg. Hex Head Machine 

Bolt 
69604	 1	 Keeper Plate
69612	 1	 Keeper Plate 
69833 	 2 	 Key 
69841 	 1	  Key 
69906 	 2 	 Washer 
70009	 1	 Locking Pawl
70114	 1	 Brake Shoe Pin
70130	 1	 Brake Mountinq Bracket Pin
70262	 1	 Locking Gear
70475	 1	 5/8”	 SAE Flat Washer
70483	 2	 1/8”	 0 x 1” Lg. Cotter Pin
70491	 8	 7/8”	 Hex Nut
70521	 2	 1/2”	 0 x 1” Lg. Hex Head Machine 

Bolt
70548	 12	 1/2”	 Std. Lockwasher
70572	 4	 #6 x	 5/16” Lg. Drive Screw
70580	 1	 Name Plate
71145	 4	 Pipe Separator
71196	 1	 Locking Pawl Spacer 
71226 	 2 	 Bearing
71234	 1	 Drum Gear Shaft
71323	 1	 Intermediate Shaft 
71382 	 1 	 Bearing
72745	 1	 Drive Shaft Guard Assembly
72753	 3	 Stand Off Bracket
72818	 1	 Controller Mounting Plate
73105	 1	 Brake Assembly Spring
73393	 1	 Hydraulic Winch Brake Assembly
73598	 1	 C. H. Transformer Box
73776	 1	 Parker Hannifin 4-Way Valve
73946	 1	 Electric Motor Pump Base Plate 

PART	 QTY DESCRIPTION
74713	 1	 Lincoln 71/2” H. F Motor
75108	 1	 Drive Gear
75361	 1	 C. H. Pushbutton Station
78727	 1	 Brake Assembly - 16 Teeth
78794	 1	 Hydraulic Motor Bracket
78808	 1	 Hydraulic Motor
79006	 1	 Aluminum Sub-Plate w/Relief Valve
79766	 1	 Locking Pawl Pin
82023	 1	 Hose Assembly - 20 RP (R.H.)
82074	 1	 Hose Assembly - 20 FIT (R.H.)
82147	 1	 Hose Assembly - 20 RA (R.H.)
82201	 1	 Hose Assembly - 20 RB (R. H.)
82252	 2	 Hose Assembly - 20 RLBL (R.H.& L.H.) 
79057	 1	 Drum Assembly 
82465 	 1 	 Washer 
82481	 1	 Pipe Spacer
84549	 1	 Gear Guard Assembly (Right Hand)
84573	 1	 Hydraulic Brake Stub Post Assembly
84611	 1	 Right Side Plate Assembly
84638	 1	 Left Side Plate Assembly
84697	 2	 Sealmaster Ball Bearing
84719	 1	 Drive Shaft Spacer
84840	 4	 Pipe Separator Rod
84875	 1	 Hydraulic Motor Base Plate
86851	 1	 Drive Gear & Pinion Assembly w/Brake 

Drum
87319	 1	 Drive Pinion Hub Assembly
87343	 1	 Yoke Assembly
87351	 1	 Cable Guard Plate - Right Hand
87386	 1	 Foot Brake Assembly
87416	 1	 Intermediate Shaft Brake Drum 
87432 	 1 	 Key
87440	 1	 Drive Shaft
	 3	 Jiffy 125 Cable Clamps
		  Provided by Electric Shop 

FOR LEFT HANDWINCH
82031	 1	 Hose Assembly - 20 LP (L.H.)
82104	 1	 Hose Assembly - 20LT (L.H.)
82155	 2	 Hose Assembly - 20 LAB (L.H.)
84530	 1	 Gear Guard Assembly (L.H.)
87483	 1	 Cable Guard Plate (L.H.)

probably from Louisiana if...
The four seasons in your year are: crawfish, shrimp, 
crab and King Cake.

20 TON HYDRA - ELECTRIC WINCH PARTS LIST



Byrne, Rice and Turner504 525 7137 B-211



Byrne, Rice and Turner www.brtmarine.comB-212

40 TON HYDRA - ELECTRIC WINCH PARTS LIST

PART QTY..	 DESCRIPTION
280	 16 	 3/4” x 2 1/2” Lg. H/H Machine Bolt
523	 16 	 3/4” Hex Nut
582	 7	 1/4” Hex Nut
752	 1	 3/8” Lockwasher
779	 7 	 1/4”Lockwasher
1066	 4	 1/4”x 3/4” Lg. H/H Capscrew
1090	 3	 1/4”x 3/4” Lg. R/H Capscrew
5827	 9	 Lin. Ft. TSGA-3 Marine Cable
5886	 6	 Lin. Ft. TTIB-I O-N Marine Cable
9865	 3	 1/8” PTF Alemite Fitting
11495	 1	 3/8” x 2 1/4” Lg. H/H Machine Bolt
11592	 8	 1/2” x 2” Lg. H/H Machine Bolt
11746	 2	 5/8” x 1” Lg. H/H Machine Bolt
14591	 16	 1/2 x 1 1/2” Lg. H/H Machine Bolt
69566	 1	 Base Bar
69574	 1	 Base Bar
69582	 4	 Pipe Separator
69604	 1	 Keeper Plate
69612	 1	 Keeper Plate
69728	 1	 Locking Pawl Spacer
69787	 2	 Drum Gear Bearing
69795	 1	 Drum Shaft
69809	 1	 Pipe Spacer
69833	 1	 Key w/87009 & 70335
69868	 1	 Key w/87009 & 69981 
69906 	 2 	 Washer 
69922	 1	 Intermediate Shaft
69930	 1	 Intermediate Shaft Collar
69973	 1	 Drive Gear Pinion Bearing
69981	 1	 Locking Gear
70009	 1	 Locking Pawl
70114	 1	 Brake Shoe Pin
70130	 1	 Brake Mounting Bracket Pin 
70475 	 1 	 Flatwasher
70483	 3	 1/8” x 1” Lg. Cotter Pin
70491	 8	 7/8” Hex Nut
70521	 2	 1/2” x 1” Lg. H/H Machine Bolt
70548	 20	 1/2” Lockwasher
70572	 4	 #6 x 5/16” Lg. Drive Screw
70580	 1	 Name Plate
72699	 1	 Retainer Ring
72702	 1	 Four Way Valve Mounting Plate
72729	 1	 Electric Motor Base Plate
72745	 1	 Drive Shaft Guard
72753	 3	 Stand Off Bracket
72818	 1	 Pushbutton & Controller Plate
72869	 1	 Drive Gear
72982	 1	 TEFC Electric Motor 10 HP
73377	 1	 Brake Cylinder
73393	 1	 Hyd. Winch Brake Assembly
73520	 1	 Brake Spring
73598	 1	 Transformer Box
73776	 1	 Four Way Valve

PART QTY DESCRIPTION 
73911	 1	 Key w/87009 & 72869
74004	 1	 Drum Assembly 
74012 	 1 	 Washer
74179	 1	 1/2” Cable Fitting
74187	 1	 3/4” Cable Fitting
74667	 1	 Power Pack Assembly
75205	 1	 Vent Cap
75361	 1	 Pushbutton Station
78727	 1	 Motor Pinion with Brake Drum
78794	 1	 Hydraulic Motor Bracket
78816	 1	 Hydraulic Motor
79006	 1	 Modular Aluminum Subplate
79774	 1	 Locking Pawl Pin
82007	 1	 Hose Assembly 40RP
82074	 1	 Hose Assembly 40RT
82120	 1	 Hose Assembly 40RA
82198	 1	 Hose Assembly 40RB
82244	 1	 Hose Assembly 40RLBL
84336	 4	 Pipe Separator Rod
84492	 2	 Side Plate
84549	 1	 Gear Guard Assembly
84573	 1	 ‘ Brake Stub Post Assembly
84622	 2	 Sealmaster SFC-32 Ball Bearing
84700	 1	 Drive Shaft Spacer
84735	 1	 Hyd. Motor 8ase Plate
86878	 1	 Drive Gear & Pinion Assembly
		   w/Brake Drum
86967	 1	 Yoke Assembly
87009	 1	 Drive Shaft
87025	 1	 Foot Brake Assembly
87092	 1	 Cable Guard Plate
87130	 1	 Key w/87149
87149	 1	 Drive Pinion 

PARTS NOT SHOWN
20222	 1	 Starter (In Transformer Box)
70335	 1	 Handwheel Assembly
73725	 3	 Heater (In Transformer Box)
78913	 2	 Lifting Lug
82295	 1	 Fitting Kit
85073	 1	 Drive Shaft Pinion Spacer 

For Left Hand Winch 

82015	 1	 Hose Assembly 40LP
82082	 1	 Hose Assembly 40LT
82139	 2	 Hose Assembly 40LAB
84530	 1	 Gear Guard Assembly
86908	 1	 Yoke Assembly
87181	 1	 Cable Guard Plate



Byrne, Rice and Turner504 525 7137 B-213

PART QTY DESCRIPTION 
73911	 1	 Key w/87009 & 72869
74004	 1	 Drum Assembly 
74012 	 1 	 Washer
74179	 1	 1/2” Cable Fitting
74187	 1	 3/4” Cable Fitting
74667	 1	 Power Pack Assembly
75205	 1	 Vent Cap
75361	 1	 Pushbutton Station
78727	 1	 Motor Pinion with Brake Drum
78794	 1	 Hydraulic Motor Bracket
78816	 1	 Hydraulic Motor
79006	 1	 Modular Aluminum Subplate
79774	 1	 Locking Pawl Pin
82007	 1	 Hose Assembly 40RP
82074	 1	 Hose Assembly 40RT
82120	 1	 Hose Assembly 40RA
82198	 1	 Hose Assembly 40RB
82244	 1	 Hose Assembly 40RLBL
84336	 4	 Pipe Separator Rod
84492	 2	 Side Plate
84549	 1	 Gear Guard Assembly
84573	 1	 ‘ Brake Stub Post Assembly
84622	 2	 Sealmaster SFC-32 Ball Bearing
84700	 1	 Drive Shaft Spacer
84735	 1	 Hyd. Motor 8ase Plate
86878	 1	 Drive Gear & Pinion Assembly
		   w/Brake Drum
86967	 1	 Yoke Assembly
87009	 1	 Drive Shaft
87025	 1	 Foot Brake Assembly
87092	 1	 Cable Guard Plate
87130	 1	 Key w/87149
87149	 1	 Drive Pinion 

PARTS NOT SHOWN
20222	 1	 Starter (In Transformer Box)
70335	 1	 Handwheel Assembly
73725	 3	 Heater (In Transformer Box)
78913	 2	 Lifting Lug
82295	 1	 Fitting Kit
85073	 1	 Drive Shaft Pinion Spacer 

For Left Hand Winch 

82015	 1	 Hose Assembly 40LP
82082	 1	 Hose Assembly 40LT
82139	 2	 Hose Assembly 40LAB
84530	 1	 Gear Guard Assembly
86908	 1	 Yoke Assembly
87181	 1	 Cable Guard Plate



Byrne, Rice and Turner www.brtmarine.comB-214



Byrne, Rice and Turner504 525 7137 B-215



Byrne, Rice and Turner www.brtmarine.comB-216

NABRICO 24” BARGE MOVING WINCH

NABRICO 36” BARGE MOVING WINCH



Byrne, Rice and Turner504 525 7137 B-217



Byrne, Rice and Turner www.brtmarine.comB-218



Byrne, Rice and Turner504 525 7137 B-219



Byrne, Rice and Turner www.brtmarine.comB-220



Byrne, Rice and Turner504 525 7137 B-221



Byrne, Rice and Turner www.brtmarine.comB-222



Byrne, Rice and Turner504 525 7137 B-223



Byrne, Rice and Turner www.brtmarine.comB-224



Byrne, Rice and Turner504 525 7137 B-225



Byrne, Rice and Turner www.brtmarine.comB-226



Byrne, Rice and Turner504 525 7137 B-227

Shur-Worm Worm Gear Series 
750-3000 lb Capacity

Models W2, W5, W10
Intended for intermittent hand use; not recommended for power 
operation
• Open worm gear design
• Ductile iron frames
• Cast iron drums
• Cast steel worm gears
• Steel shafts
• Steel lock-on operating handles
• Optional gear cover

Models W100-3, W100-6, and W200-5
Intended for heavy duty hand use; not recommended for power operation
• Fully enclosed worm gearing
• Steel frames
• Precision machine cut steel worm
• Bronze worm gear
• Free spooling

Models W100-3P, W100-6P, and W200-5P
Intended for heavy duty hand use or convertible for intermittent power use
• All the outstanding features of the fully enclosed 100 series hand models 
plus:
• Anti-friction ball bearings and internal friction device makes models 
suitable
for intermittent power operation
• Unit not furnished with free spooling features

W100-6 Shur-Worm

Still think you are having a Bad Day?
A woman came home to find her husband in the kitchen shaking frantically, almost in a 
dancing frenzy, with some kind of wire running from his waist towards the electric kettle. 
Intending to jolt him away from the deadly current, she whacked him with a handy plank of 
wood, breaking his arm two places. Up to that moment, he had been happily listening to his 
Walkman.



Byrne, Rice and Turner www.brtmarine.comB-228

What? STILL having a Bad Day?
Iraqi terrorist Hay Rahnajet didn’t pay enough postage on a letter bomb. It came back with “Return to Sender” stamped 
on it. Forgetting it was the bomb, he opened it and was blown to bits.



Byrne, Rice and Turner504 525 7137 B-229

STILL think you’re having Bad Day?
Two animal rights defenders were protesting the cruelty of sending pigs to a slaughterhouse in Bonn, Germany. 
Suddenly, all two thousand pigs broke loose and escaped through a broken fence, stampeding madly.
The two helpless protesters were trampled to death.



Byrne, Rice and Turner www.brtmarine.comB-230



Byrne, Rice and Turner504 525 7137 B-231



Byrne, Rice and Turner www.brtmarine.comB-232

Taking The Winch Industry By Storm

STANDARD FEATURES:
• Totally enclosed, marine grade, fully reversing crane and hoist 
duty motors
in 220, 440, or 575 volts.
• Winch stall pulls from 11,000 to over 50,000 lbs.
• Winch electric brake and worm drive gear holds from 46,000 to 
111,000 lbs.
• Flame-cut precision-machined side frames.
• Enclosed drive gearing.
• Steel gear guard prevents slack cable from fouling gears.
• Automatic disc break.
• Simple effective design reduces maintenance cost.

 Profile Barge Winch 40 - 90 Ton Holding Capacity

 

OPTIONAL FEATURES:
• Remote control packages for pilot
house control NEMA 1; General
purpose enclosure NEMA 4; Watertight
-NEMA 1 or 4 magnetic reversing
starter.
-NEMA 1or4 push button station.
• Wider drums (see wire rope storage
chart (bottom left) for optional
drum lengths.
• Slip Clutch.

• Drum divider flange.
• Grooved drums.
• Angle deck brackets.
• Disengaging clutch and hand wheel
for emergency power loss operation.
• Dual winch, barge spotting system.
• Special inquires invited for mooring
and terminal application.
• Air and hydraulic models upon request.
• Wintech Winch Cables.

Lowest profile design available /
Requiring the least amount of
Deck Space

Superior Value - Wintech Reliability / Quality

Electric Low - Profile Barge Winch 
20 - 90 Ton Holding Capacity

Perspective... 
FOR ALL OF YOU WHO THINK YOU ARE HAVING A BAD DAY... 
The average cost of rehabilitating a seal after the Exxon Valdez Oil spill in Alaska was 
$80,000.00. At a special ceremony, two of the most expensively saved animals were being 
released back into the wild amid cheers and applause from onlookers.

A minute later, in full view, a killer whale ate them both.



Byrne, Rice and Turner504 525 7137 B-233

Superior Value - Wintech Reliability / Quality

Electric Low - Profile Barge Winch 
20 - 90 Ton Holding Capacity



Byrne, Rice and Turner www.brtmarine.comB-234



Byrne, Rice and Turner504 525 7137 B-235



Byrne, Rice and Turner www.brtmarine.comB-236



Byrne, Rice and Turner504 525 7137 B-237



Byrne, Rice and Turner www.brtmarine.comB-238



Byrne, Rice and Turner504 525 7137 B-239



Byrne, Rice and Turner www.brtmarine.comB-240



Byrne, Rice and Turner504 525 7137 B-241



Byrne, Rice and Turner www.brtmarine.comB-242



Byrne, Rice and Turner504 525 7137 B-243



Byrne, Rice and Turner www.brtmarine.comB-244

probably from Louisiana if...
You pronounce the largest city in the state as “Newawlins.”



Byrne, Rice and Turner504 525 7137 B-245

probably from Louisiana if...
You know those big roaches can fly, but you’re able to sleep at night anyway.



Byrne, Rice and Turner www.brtmarine.comB-246



Byrne, Rice and Turner504 525 7137 B-247

probably from Louisiana if...
You realize the rain forest is less humid than Louisiana.



Byrne, Rice and Turner www.brtmarine.comB-248



Byrne, Rice and Turner504 525 7137 B-249

Specify your river ratchet
1	 Choose the screw diameter 

to suit your needs. Please ap-
ply a minimum 4 to 1 design 
factor when making your selec-
tion. For example, if your de-
sign load is 10,000 lbs. maxi-
mum, then a 1 “ ratchet with a 
40,000 lb. MBS would be the 
minimum strength required.

2	 Specify the barrel length as 
determined by amount of take-
up required.

	 Barrel length = Required take-
up plus 2 times the screw di-
ameter. In general 18” to 36” in 
6” increments are standard, but 
other lengths can be supplied 
upon request.

3	 Pick the end fittings for each
	 end (left and right) to best suit 

your application. Ratchets and 
end fittings are designed for 
straight line pull tension appli-
cations only.

4	 Select handle type (spring 
loaded or loose pawl). See 
handle information on this 
page.



Byrne, Rice and Turner www.brtmarine.comB-250



Byrne, Rice and Turner504 525 7137 B-251

Specify your ratchet...
1	 Choose the barrel diameter 

and screw size to suit your 
needs based on breaking 
strengths and dimensions 
shown on Dimensions page. 
Apply in straight tension only 
with a minimum safety factor 
of 3 to 1. 

2	 Specify the barrel length 
as determined by amount 
of take-up required. Barrel 
length = Required take-up 
plus 2 times the screw diam-
eter. (Round final calculated 
barrel length up to nearest 
even inch.)

	 Example: Required Take-up 
= 8 inches. Screw Diameter 
= 1 inch. 

	 8 inches + (2 x 1 inch) = 10 
inches. 

	 The Barrel Length would be 
10 inches. 

3	 Pick the end fittings for 
each end (left and right) to 
best suit your application. 
Ratchets and end fittings are 
designed for straight line pull 
tension applications only.



Byrne, Rice and Turner www.brtmarine.comB-252

 		  SPECIFICATIONS 
MATERIAL
CAST STEEL
STRENGTH:	 STRENGTH SHOWN IN TONNES 
	 TENSION 	 SHEAR	 COMPRESSION
SAFE WORKING LOAD: 	 25		  25	 75
PROOF LOAD:	 37.5		  37.5	 112.5 
MINIMUM BREAK:	 50		  50	 150
FINISH:
SELF COLORED

SPECIFICATIONS

MATERIAL:
CONE - FORGED STEEL
BODY-DUCTILE IRON

STRENGTH:
TENSION	 34 TONNES
SHEAR		  48 TONNES
COMPRESSION	 150 TONNES

TESTING:  TWISTLOCK IS TESTED PER A.B.S.
FINISH:
GALVANIZED

F476
TWISTLOCK STACKER

(FIXED BASE)

F273
SOCKET

(I.S.O. - FLUSH)

SPECIFICATIONS

MATERIAL:
D-RING: FORGED STEEL
STRAP: PLATE STEEL

STRENGTH:
6.6  TONNES M.B.S. PULL AT 45 

FINISH:
SELF COLORED

F187
D-RING & STRAP

probably from Louisiana if...
You can list all the ingredients of a gumbo or a jambalaya



Byrne, Rice and Turner504 525 7137 B-253

F643
‘D’ - RING & STRAP

F654
‘D’ - RING & STRAP

SPECIFICATIONS
MATERIAL:
‘D-RING: FORGED STEEL STRAP: PLATE STEEL

STRENGTH: PULL  AT 45°

SAFE WORKING LOAD		  54,000 Lbs.
PROOF LOAD:			   60,000 Lbs.
MINIMUM BREAK STRENGTH:	 90,000 Lbs.

FINISH:
SELF COLORED

WEIGHT:
3.5 KGS. [7.6 LBS.]

SPECIFICATIONS
MATERIAL:
‘D-RING: FORGED STEEL
STRAP: PLATE STEEL

STRENGTH:
50 TONNES M.B.S. PULL AT 45

FINISH:
SELF COLORED

WEIGHT:
4.7 KGS. (10.3 LBS.)

De Deer Hunt
Boudreaux. Thibodeaux. and a bunch of deir buddies waz out on a deer-hunting trip.
Late one afternoon. Boudreaux walks into camp carrying a huge buck on his back. One of de guys axed. 
“Where is Thibodeaux?”
Boudreaux tells him, “He’s back dare in de woods a couple of miles. I t’ink he dun had heemself a heart attack 
or sumt’ ing.”
De buddies were all shocked dey asks. “Doyo mean dat you carried dat buck back, and lef poor Thibodeaux 
laying out der in de woods?”
Boudreaux says. “Mais, yeh. it was a tough choice to make. but I figured nobody’s gonna steal Thibodeaux!”

*

*

*‘B’ dimension is with ‘D’ –Ring in tension



Byrne, Rice and Turner www.brtmarine.comB-254

FO
R

 E
S

TI
M

AT
IN

G
 P

U
R

P
O

S
E

S
 O

N
LY

:
TH

E
 M

A
N

U
FA

C
TU

R
E

R
 R

E
S

E
R

V
E

S
 T

H
E

 R
IG

H
T 

TO
 C

H
A

N
G

E
 O

R
 M

O
D

IF
Y 

TH
E

 E
Q

U
IP

M
E

N
T 

S
P

E
C

IF
IC

AT
IO

N
S

 O
R

 T
H

E
 D

E
S

IG
N

 A
S

 H
E

R
E

IN
 S

E
T 

FO
R

TH
 P

R
IO

R
 T

O
 C

E
R

TI
FI

C
AT

IO
N

 D
AT

E
 W

IT
H

O
U

T 
IN

C
U

R
R

IN
G

 A
N

Y 
O

B
LI

G
AT

IO
N

 D
U

E
 T

O
 P

R
IO

R
 O

R
 C

U
R

R
E

N
T 

D
E

S
IG

N
 P

R
O

P
O

S
A

LS
.

M
cE

LR
O

Y
/C

A
TC

H
O

T
 W

IN
C

H
 C

O
M

PA
N

Y

* 
FO

R
 M

A
IN

 D
R

U
M

 W
IR

E
 R

O
P

E
 C

A
PA

C
IT

IE
S

 S
E

E
 D

O
U

B
LE

 D
R

U
M

 H
O

IS
T 

W
IR

E
 R

O
P

E
 C

A
PA

C
IT

IE
S

.



Byrne, Rice and Turner504 525 7137 B-255

REPAIR PARTS LIST for 

NO. 498	 SINGLE DRUM HOIST
NO. 500	 SINGLE DRUM HOIST
NO. 515	 DOUBLE DRUM HOIST
NO. 5151/2	 DOUBLE DRUM HOIST
NO. 515T	 TRIPLE DRUM HOIST 
NO. 515’/2T	 TRIPLE DRUM HOIST 
NO. 5151/2TS	 TRIPLE DRUM HOIST 
NO. 518TS	 TRIPLE DRUM HOIST
NO. 518T	 TRIPLE DRUM HOIST
NO. 519T	 TRIPLE DRUM HOIST

INSIDE CAM THRUST 

207	 - DRUM SHAFT COLLAR.
207A	 - DRUM SHAFT COLLAR TAPER PIN. 
208*	 - DRUM SHAFT.
209	 - PINION SHAFT.
210	 - MAIN DRIVE PINION.
210A	 - MAIN DRIVE PINION KEY.
212*	 - BRAKE SHAFT.
213	 - BRAKE SHAFT COLLAR.
214	 - BRAKE LEVER ASSEMBLY LESS WEIGHT, 

#218.
215	 - BRAKE LEVER FOOT PAD.
218	 - BRAKE LEVER WEIGHT.
219*	 - BRAKE BAND COMPLETE WITH LINING. 
221*	 - BRAKE LINING.
221A	 - NUTS AND WASHERS FOR BRAKE END 

BOLT.
223	 - BRAKE BAND BOLT AND NUTS.
224	 - BRAKE BAND TOGGLE PIN.
224A	 - BRAKE BAND TOGGLE PIN BUSHING.
225	 - BRAKE BAND TOGGLE.
226*	 - FRICTION DRUM.
227	 - FRICTION DRUM BUSHING.
228	 - FRICTION DRUM SPRING. 
229	 - FRICTION GEAR.
229A	 - FRICTION GEAR KEY.
230	 - FRICTION GEAR RING (NOT SHOWN) MODEL 

#498,
		  515 AND 51ST HOISTS ONLY.

231*	 - STATIONARY FRICTION CAM.
232*	 - MOVABLE FRICTION CAM.
233	 - MOVABLE FRICTION CAM LEVER.
234	 - STEEL DRUM SPRING WASHER.
235A	 - OUTSIDE BRONZE THRUST WASHER.
235B	 - INSIDE BRONZE THRUST WASHER.
238*	 - DRUM PAWL WITH BUSHING.
238A	 - DRUM PAWL BUSHING.
239*	 - DRUM PAWL WEIGHT.
240	 -DRUM PAWL PIN.
241*	 - CROSS BEAM.
241A	 - CROSS BEAM MOUNTING BOLTS AND 

NUTS.
243	 - LEFT HAND SIDE FRAME.
244	 - L.H. DRUM SHAFT CAP; R.H. OR L.H. PINION 

SHAFT CAP.
246	 - RIGHT HAND SIDE FRAME.
247*	 - DRUM SHAFT CAP FOR R.H. SIDE FRAME.
249	 - WINCH HEAD.
249A	 - WINCH HEAD KEY.
250	 - BEARING CAP STUDS WITH NUTS.
251	 - GEAR GUARD ASSEMBLY (NOW SHOWN); 

SPECIFY MODEL HOIST FOR WHICH GUARD 
IS REQUIRED. 

	 *SPECIFY FOR WHICH DRUM PART IS RE-
QUIRED; LOWER, MIDDLE OR UPPER.

STROUDSBURG HOISTS



Byrne, Rice and Turner www.brtmarine.comB-256

Vertical electric winlasses in low profile or capstan versions

Doya know who dat is?
Boudreaux and Marie were mad at each udder. Dey drove several miles down de road wit’out saying a word after 
de argument dey had earlier.
Neider one of dem waz gonna give in to de udder an’ admit dat dey might be wrong.
As dey passed a barnyard wit a bunch of mules and pigs standin’ aroun’. Marie sarcastically axed Boudreaux. “Ees 
dat relatives of yours?”
Boudreaux answered. “Yep, dats ma in-laws”.


